gbobbooogbbbuoooubbbooon

U

gobboboogobboboogooboo

0

gogbboboooobbboooob

i

gbooboogobobbogooobon

—0ooo0  1—



gobooodgdn

gobbooboooooboo
gobobooooboo

— 0000 (generative grammar)

ooooooD “0o0obooboo"oogon

e JUOUOUOU

e OO UOOODLODDOOOODO
gobbbooooobood

e JUUUULOOODODODOO

—0oooo  2—



O : {a®™*™ T |n, m > 0}
ODcO00O0O0OO0O0OOO0OOOOOO
bOodoooon

000000000 (aa)b(bb)*

—0ooo0  3—



O : {a®™*™ T |n, m > 0}
ODcO00O0O0OO0O0OOO0OOOOOO
bOodoooon

000000000 (aa)b(bb)*

e S— aaS
e S—DbB
e B — bbB
e B—¢

—0ooo0  3—



O : {a®™*™ T |n, m > 0}
ODcO00O0O0OO0O0OOO0OOOOOO
bOodoooon

000000000 (aa)b(bb)*

e S— aaS
e S—DbB
e B — bbB
e B—¢

gobbboooooboo

e S— aaSIbB
e B — bbBle

—0ooo0  3—



gobooodgdn

gobooboobobooobo*co”oon
gobbboooooboboooon
gboobgoboobon

O00ooO00oooOooooooo
e UAV — uwv

—oooo0  4—



gobooodgdn

gobooboobobooobo*co”oon
gobbboooooboboooon
gboobgoboobon

O00ooO00oooOooooooo
e UAV — uwv

u,ve Xr*: 00O (context)

Ub A0 vAvOoOooooooo
OweX*0U00O0nooooonOog

—oooo0  4—



gobooooodgdn

G=(VLRS)

eV:000DDDOODODOOO

ey :00000D0DDOOOOOO

oo00 vnI=90

e R: 0000 C(VUL)*x(VUL)*
O0ooooQg

eScVv:0000O

(vww)eROOOOO v-wOOO

—0ooo0  5—



000000 (context-free grammar)

0000000 e
00000000 A—=w(AeV)OD

—o0ooo0 66—



000000 (context-free grammar)

0000000 e
00000000 A—=w(AeV)OD

gobooooogooon

eV:000O0ODOODOOOODO

ey : 000000 DOOOODOO

000 vnI=90

eR: 0000 CVx(VUL)ODOOOODOODO
eScVv:000DO

(A,bw)eRODODO A—wDOOO

—o0ooo0 66—



O:00 A={a"d"n>0}0
Oodoooooooooooooon

—ooooo  7—



O:00 A={a"d"n>0}0
Odogpooooooogoooggono
e S— aSble

—ooooo  7—



O:00 A={a"d"n>0}0
Odogpooooooogoooggono
e S— aSble

gooo

ooooooboboboooooogn

—oooog 7—



O:00 A={a"d"n>0}0
Odogpooooooogoooggono
e S— aSble

gooo

ooooooboboboooooogn

gbobboooobbooogbn
gobbobuooooboo

—ooooo  7—



O:00 A={a"d"n>0}0
Odogpooooooogoooggono
e S— aSble

gooo

ooooooboboboooooogn

gbobboooobbooogbn
gobbobuooooboo

gobbooogbbobodgo
-ggogobbooooobon

—ooooo  7—



goboboogoboboodg

gboooboboboboboobood
Dboboobooboobooboob

pusha pushb pushc pop pop push d
a b c b a d
a b a a

a

gobboboogooboooooobn
gobobooodgn
- LIFO (Last In First Out)

—p0oooo 8—



0000000 ooooooooooon
M= (Q,X,T5,s,F)
e Q: 0000 ---0OO0OODO
e : [JOOO --- alphabet

e[': 00OODO --- stack alphabet
Y.=Xu{el, Te:=Tuf{e; 00O

e d0:QxXL. xTe—P(QxTy
:gogoooooouoo-.- boooouot

escQ - 0000
eFTCQ.-.-0000000

—0ooooo0  9—



0:Qx X xTe —P(QxTy)

e (1,y) €6(q,a,x) 000
000 adooooono
U0 gOooooooodg xooo
godoooob yoooogo
U0 rogooogg
00000 (pop; push y)

ex=y oooonoog

e x=¢ U push OO
ey=c¢ [l pop Q]
ea=cJ0000O0O0O0OOO

—0oo0o0o 10—



0

: 00 A={a™"n>0}00000

gobboboogbbodao

Y ={a, b}, I'={a,b,c}

a,e>a b



Ooo0d a™™ 000

ge+C _act~>a a,e~>a _ b,a*e b,a>e b,a*e ec-e
Yo q, q, q, q, q, q, ds3
push ¢ pusha pusha pop pop pop pop
c a a a a c
c . : c
: a
a c
c

—goooo 12—



goooogg

goooo

gobbooogobobuoooobobbuooon
gbogbuoooboooboobo

gbobboooobbodd

O :
e JOOOOODOO

e PostScript

—0oo0o0o0 13—



EN N
/

13| [ x| L x| [2]
/ AN
4] 2] [3] [4]
3+4x2 3x4+2

Mathematica J OO
0000000000000 oooooo

gboboboooobbooooabo

—0oooo 14—



